4 - > o o %>
D Bpf AREAR 225, AEE 2857 ASZP05 p55 SRRE 2apglss (20853
- - > -
(1lUL)141-P/141/2021/318
(07/12/2021)
o 22, 2225,
r—S Ay PO 2>
Cr C 2, 0r, » © D> P> 2,0 -
'.’)'—'Ja' seiar—> sa5r~224(07/12/2021) (IUL)141-P/141/2021/318 2e”% J'J"e'-‘/"f 2 22
-
0 0r -
sra—3 -01
€222 ~o- - 2, oc - oc ol >0 oelPoc o -o ~ ¢ oo 202« o-
srrvazrgr— pp <rv pr— 10 g5 e~ 55 ig 05 reve magr— 05 x@xpr— 05 s Ara fﬁ/‘e’—‘f’f ‘92
~ -
CCror »
PPV Ar—>
or €27 07 -
,"--';.p sevar—3 =02
¢z zcx;;&c 22> - - 23 o o¢c ¢ o or 0. « ¢co > > ¢, 0, - 21
VP AFV A ALPAY O ASPS 5 v ovn /;—' /vrﬂ-‘v/’ g — /_pA SPVAr—> =/
o ~ - -
XX X1 -4
_ﬁ.”/".’/‘ ’—'V?'03
2,
60 % 25
2,002
20 % Py
0 C 2,2 & e - ¢ de z 2 - Cd2r0r »~
15 % | ses5e> a5Ae 22505 FpreP) esge sebar—>
-~
€2r & 0% Or-r0> O0r0r -
(/-vr; SOV PAFIYV FOSAS PYAr—D
-~
o -xo
05 % FAI~
0 >2¢r> >0 ®0-
IS @ L3N "04
z @
* Ors - [ R4 d rro0c oo0c¢c o olo 23 o3 oo #0332 o9 ® o
J S, J")3 J'/"/I ')’d EI’)J‘IJ?A ;/"4"’ LIV PPN F A KPI—IID SPAS S @i —tp v A L4
e e * L s, @
2 O0Crr 7 s €2, 0%~ -~ O ¢ ¢ - - ccecPoOorrrd 2 o~ o0- 2,
-}-4/"})'.:/' AN vr—'/'—'_,‘/"d SVPO PG SN SIS 85 PA PAIPIS s o'—'/;—‘}}w P LJ
- - e -
2 © X0 CO2FPr Prrd> ¢

P

-
'I"/"IJ"J"J/ /"—' 2

/"}'//'/ /AJJ‘J SPox g S oo—'/ p—{,v;v.n

-05

A}J‘-d.; Jﬁn;g -;y _.-;,- ‘,,A’J_,,,

coe 25,
S

” 0 - 3
> A‘A

Page 1o0f3



-06

07

1

-

-
s -
2o -
‘o

AP AJ PP G BII st I

C2r 07 »
L -
SP® AsA®>
-
-
LAl
SIS AN O
-
e
e

L4

27

© 3¢

b d
>
> %
2z

-
>

CxSe SsEVvAr—>
”
€ dee
s
1-5
o ¢

@

SIS RIS

G D

-
-
PR

>
5 &
0 rrrr e2ce
Yppa 5528
> * o
L d
s o - P
pAss vexi
- &
° 3¢
/
-

Xl
", /J

[l
& -

cr >
> P
HEAS S
-
-

or0-r -
cce
-
-
L g
~ -~
LrAAn 2.
z -

CBANB S s Pt

L a
-
“
¥

s P s Ox
-
oo 3
VA
&. e d
2425~
P2 PpND PASKo
/ x o
I ¥
Cd

s O
»
Crr > e« c
VoOINP Srrs P
L d
s ©0¢>
”
L d
O 20 e
POV PP
~ -~
¢ o o 2c¢
[ Ao
e

-

d
>

SFAIPS Ap® ©r—r—

€20 2
Bl
-
-
” 0C s
SeAIg0
s 22
¥ AP~ A5 @I 0l p3 Sy
z

©er 0 >
-

PP AL SA AN

z
L -~
FENP 2
z
”~ o
#

-

€2,

0 2e s
) S A S P
-

>0 >
o L b

9

© & 2,507 >,

AZsp 5
s e

o
o
o
o

3
.
)
o
e

*

o
*f

o
8

°
SIS s @
-
-
L
-
o
s
o

o
e

YA

2o
—g3 0
Page 2 of 3

L d

b
z

o coc
—pa 0
- E d /‘
e
-
> e
SNV I—
Ed

Or s 290,
-

SOV P et
-
s @

z

.
.
>z

z
> 2
& -

® 0D

Pl d

L4

cccoc

PASIS® P a

[ Rt
<

roy
<
z

>

1
P o-r>2

el
€ 0
Pk
2o
HKAS s @t
-
ALV AP f/ AL @~
e
2o
i

J S @ 3 v

viee
L4

>

¢ >o0-
-
2

S Ao @
-
0

10,000 »325

o~ -3
s 02

sver

o -
- -
o -
-
€ >-r0
va
ecro0r -
>
& -
3
>
-

2.
ASA 5
-
P
oo
Cr ke
ce
S p

2.
s o0cC

oy >

&
o
-

<
-

o ¢
oo~
BIOAI Y 2N ProASy
o
< A
<

.,_4,,.; ‘

-
<
>
AN AAVI— 3@
-

CCecww 0cr >
-

 Cr s>
SO AR S
-~
CRAIS AN s @
6% e
z
o
? -~ o0x0 7o
—pAN PAFIrVIiN®
° o
P

03P oc- >
oc

fr2ps AL

¢ o0 «ww

PSS SN S A v

o >¢
o
-
© coc
-~ o3
L
1
2%

AS Y@ r—

-
¢

z -
¢cccoc
z
-

o -
o=

o e
P A el
P
YAASpA KA ra
© o
s -
CPAPIVS® P A
o ¢ e

s >

&

-
€2, >

03 2¢
-
o)
Zo - © >3
©o- - 0>
oc¢

© o
CcecPoP 0P

BASrP;P oy P

L4

L

2,
o o0lo

—g g r—

e Porrr>
CBAIP IS s AAPIYES 5

<
o3
-

>z

Cr—s =30 el >

22
A N

x oo ¢
CCe P O

CBASS S

>
-

EraASY sva

& -

©~- 0x o0 ¢
SA SN s 2O

o olo

g4 ¢

o0 ¢
s r0C

e
[ 2l S Y]

>
-

eracy  son

& -
o0 -

(




0 >03%3» o o >0, ©> ¢ o
APV te mmmy b o :v se -09
”

z < ‘
© 20 ro0¢ O P sk COrPD © 20 ~r0¢ et e €2, 02 3 2r0r 3¢ o o o o
Paf 4ol 22 0] A.I'AJ‘)/ .y sSSP ol £ ol 2 P Pt SO SN2 J’.’,’-‘.ﬁ.ﬂ _P,J" /J/‘.?)//’/ S 4 AP > . <
- - T d -
2% o ¢>>”’¢/ PP ecro0r - o ¢coc Or s 022, > Orr 22,0
AP 52, ;;/A VOAJA ARYAr—D +—PAA ¥ SASS g/-—y /v;e'-d/"; .o‘)/" S I PN 1 2/*;41;}'1
- -

sasis =z /-A/er—'/v:
-

© 20x%» o0r0-r -~ > ozzcu"’

©r0r s ©CCrD P > 0CCDID 2,03 P o0
SISV P rAr—D /-v SOV SPOVAIr—= ISPV SN PO NSOV POSND PANS L =
- -
o>, o0- > xx 220 s0¢
SYAS SV AP NS D9t @A -
- -
@220 » Z,3 0r0r - 2, ©0r 3> 3 2> o ~0c¢
SRV TP PVAI—D S f FORVAI— ASDP r—®Aa -
- -
© >0x3 o03x> > o-ro0- -
SIS S 2/}'} pPraAr—> -
©32¢c0-25 2 0350 ~0¢ o0c¢ > 0-r0- - ©rr 0> > 03 €233, 32253., o0rr0- -
IS PIA PR P I—IBANN VS DI PV A AT PP @B SOV VP SRV Ar—D -
- P
€ e €2, oc s - ¢ P «e 0~ 03,3 22 ¢ o
pa 12:00 5°55 (J'J"—‘/:) 2021 J“'."—'t 16 voe5 aiee 25 R352220 50 —3R5 .
¢ - s e s o
ccecewe 2> dwde > 2 zo .- s > 222>
PASSSAVI BASI OD—‘/D—',‘J"A A SorS RIS L4

#a5 25 procurement@youth.gov.mv <32 Fia3423 253347300 fri255 23355 R A

2021 <235 07

Page 3 of 3




@

/“)/.; ’./.".: A
- AS0 A2

@ &~

- 2.2 oc
PN AP AP gy 10

o 22

2255 -
o202

SO DU O

ryrorvw s 0]

1

(84 10) 84 22 285

LR <
Lla AEA 02
&
27 -03

©

-

Lo

’-"
dr— ok

-

z
{/

o -

© 24 ©
Sore S (04

10 ~
-

2,8 o0¢

APBSS S peie st

-

@
2

- -
2oy

)

’ ”~ &
4}/'/4:3’-—'

-
%1

(

5 1;’:5 -05

© ¢

Lo

-
-

-

@ -
Ane g

52

e

© ¢

@ oL & < 2
ooty oo (6

32

’ D PLO O

o2 5 mpAASALAS 08

L 4

> -09

o s # OC O
Rt acat B e f e e B g

CcPgor o0c

-

54

o & L d
’—‘Vl’v: /");' ‘10

o




*

A

CRIU Orr O -

oL
Lol ol Farad 4

SE Vs 0n
w3 .a_p_p_;:‘-'

-
*

PIPPA AT S,

O I3P s SOIGr P oo

ey

-

P IPs PIPr P or
R P

PR 4

“®ié e
- S,

oL
A

07

Al

2021 xe5ei~

2 A

W n

Ay b

.

o

A

L3Y

ASY

RASE RS §

Jd (el

%

W%
N

.wo on




ANNEX -1

Box goal net
Dimensions S8x24ft
Color White
Depth 6'
Base 6'
Material Polypropylene, HTPP
Net Type Hex mesh
Rope Size dmm
Mesh Size 120 mm

i

-
" -
— 6 1 0 -
. s i 1 0
- ] ¢ L -
ot
ey B 0 e
i jrong”™
ik ”

Py 3 3
= =
™ »

b
bt g
ot
oy »
. g
. ndo T =
o
B ™
0 0
-







ANNEX -2

OFFICIAL CORNER FLAGS ( TYPE 2)

Dimensions 60x /[ in

Material Round white high-impact plastic uprights; Round steel base with ground peg; Nylon flag

‘ B




ANNEX -3 FRONT VIEW

INTERNATIONAL CORNER FLAGS (TYPE 1)

AUANANHANS

NN
AN N QN
AN

FEATURES:

1) HIGH IMPACT PVC CONSTRUCTION
2) FINISH: WHITE
3) INCLUDED:
STEEL SPRINGS
4) ASSEMBLIED WEIGHT: 25 LBS. PER SET
SINGLE FLAG POLE WEJGHT: 6 LBS.




NOTES:

1) DIMENSIONS ARE FOR PLANNING PURPOSES. INSTALLATION
MUST BE IN ACCORDANCE WITH INSTALLATION INSTRUCTIONS.

MATERIAL REQUIRED, BUT NOT SUPPLIED
0.03 cubic yard - CONCRETE

0.02

ABUV

cubic yard - CLEAN STONE (1/4" - 3/4")
AMOUNTS ARE PER UNIT INSTALLATICH

HINTS AR




CORNER POLE —

HIGN IMPACT PVC ™~

WHITE

SPRING
ZINC PLATED STEEL

~—

\

WHITE CLOTH EDGES

~GROUND SLEEVE
HIGH IMPACT PVC
WHITE

MATERIAL DETAILLS

CORNER POLE AND

GOUND SLEEVE
MATERIAL - HIGH IMPACT PVC




S

)

Parts List
Paté | Qiy Description )
uzes 4 GROUND SLEEVE FOR 68701
vz23 4 SPRING FOR LARGE 68701 FLAG
Uzi255 | 4 POLE AND FLAG ASSEMBLY
12170 | 4 1/4-20 x 2 Hex Bolt
1219 4 1/4-20 Lock Nut

CORNER POST ASSEMBLY

(4 LOCATIONS)




- . 6eB7TO1
TOP VIEW

M

\ d
A 6B701
» * ISOMETRIC VIEW

68701 : 88701
FRONT VIEW RIGHT VIEW




1. Unpack all parts, and report any damages to the delivery trucking company immediately.

2. Assemble flags as shown in figures 1 and 2.

3. Dig a hole 20 1/4” deep and minimum of 6” diameter in desired location. Fill bottom of hole with 6” of 3/4"
stone. See figure 3

4. Put assembled flag and ground sleeve into hole and fill hole with concrete flush with the top of the ground
sleeve. Be sure to level ground sleeve with flag assembled before concrete cures. See figure below.

5. When removing flag, be sure to place ground sleeve cap into ground sleeve,

Fig. 2 Fig. 3
PARTS LIST F
A. Flags with Pole 4) A
B. Springs (4)
C. Ground Sleeves (4)
D. Ground Sleeve Caps (4)
E. 1/4” X 2" Hex Bolt 4)
F 1/4” Lock Nut (4)
Fig. 1
y W/Pole (A)
1 LockNut () |- Pl WPole
4 174" X 2" Hex Bolt
(€
T
Put Bolt | E\ ~ - ’
Sm T i T Field Surface
ng Loop | T
{ |
Ground Sleev:
20 1/ i Concrete
6" #
; Spri l 3/4" Stone
Spring (8) pring (B)

* ——{ }-—— 6“ Minimum




ANNEX - 4

Spine Back Board




ANNEX -5
Basket stretcher

| PackingSize | 202'67Ycm | LosdCapacty  <300kg(861390)




STAINLESS STEEL SAFETY CUSHION
HIGH STRENGTH ALU.ALLOY CUSHION
NYLON SAFETY BELTS

CRE R I N Y




